Sk
A
fﬁﬂ%i@ i—ﬁ:

AT

!

IR

PIEC FERE)

o

=
A £
=

FHRY 355

237

52 TR TR T T R B

(S YRR B 37,043 Flﬁ?%hw » o B [ﬂJ*FﬁI{ » fHFRRRL +25.20% o
Hd £ 50 Iﬁﬂiﬁ\?fiﬁﬂ 38,024 F ffﬁﬂﬁﬁ‘u T2 A PR fEAREL +5.3%
@jﬁ; 11,230 F IF'Ji%Fﬁ » R fﬁ]%’;f&ﬁ » fHARLL +49.2% o
@IfES 12441 FIPRET S [FF R L +25.9% -

fifi£% 13,372 Fll‘fiji%hm o2 [ﬁ]%’gf&ﬁf@ > JERRLL +9.9% o

[[7| g&«
&= :TF;

IR Rr > P 2 2R AR P ROAEET £ 29,963 i fyitr e

i > fEFAL +15.9% o

FIWEC FHFF)
EARRL +6.1% -
FIWEC FHFF)
FL +41.2% o
FIWEC FHFF)
FL +17.0% o
P
+0.5% -

FHFT)

AT S %

P IR T
. *’Bﬂ%ﬁ £ FHpY
SRR T
JIEi*‘ﬂﬂ% H *EEJ

1

I FEES)
fEiAg Ll +8.0% -
S FEET)
+9.1% -

P FEET)
+28.3% -

P FEET)
-4.9% -

STAS
e

IR ET > A2 AL FHARIIORET 1D 31,267 T o I

[ITAETRr 72~ PR PR RS 9,005 Fifydhon » =2 B [ A - i

TR > 2 B TS 0,874 TIfjH R - = b8 [IF gL

[1TEIRE R 2R EOR T AR ES 11,085 Frfypton » =2 8 [l Pt Rl

- i 2 B R R i

Al pUAEEE B 128,535 F[fﬂ%w SR F P AR RL +15.5% -
o m £ 35,282 Flﬁ?%hw S F P AR LD +16.4% -

FaE L 42,069 Flﬁ?%hw vE'—ﬂrr g > fERRL +34.8% o

urfdd fifi £ 51,184 Flﬁiﬁﬁ ’E?ﬁrr g > fERRRL +2,99% o

=
B3
b
[
b
[
=
§

I FIRHET > B9 02 2R FRRAIMIORARL 45 108,263 |1 Pyt - - % Pt

41 E?—f;r N ) U3 = Jﬁ: iﬁ?lﬁl@ £% 29,367 F[Fjﬁﬁﬂ #_HJQ PRk fHAGRL
TR 2 iﬁ“?"l}ﬁﬁﬁr 35,253 F[fﬂaw SR P AL

TFRHET  ZHSBHEGE T FHARIEED 43,643 Iy - B D L



R T H - IR AR T R S

2R T £

A ATIERIERY T E AT S 36,102 Fr i o T P T JRRRL +8.9% -
LR %ﬂ— A EAID 10,102 Frfpih 5 10 ([ P BEL +38.0% -
SFTSREGE T FHPY £ 12,018 TR o SR b [l P AL +32.9% -
THRESET A £ AR 14439 TiFRER o 2 B [ P AL +10.2% -

A fRAAEET ED 36,654 F'F’ﬁ?ﬁﬁ B [ P VR +24.1% -
=
F&

!

IR FEEE) [ FRET S99 HRROREE S 20,070 IR S b
it o JHRGRLL +14.5% o

VIBIEC FHFE) 1 IFT A IR U poaeet i 20,457 Fifpln » = FF L
ERRL +6.3% o

PIBIEC %S ) FEET 7 BREan T A 8,282 Fifpi R > = R [ I i
RL +31.5% -

VI FRFS) ) FRET R T R 0,088 IR - I R [F gt - g
RL +25.0% -

PIBE(C S %E) ) FEET 2B AT FHARIES 10,700 Fipyihon » = B8 [ L gl

-1.5% -



